CLASS : 10th (Secondary) Code No. 5503
Series : Sec. April/2022
Roll No. SET : A

o
MATHEMATICS
AT -1
PART -1
(s )

(Subjective Questions)

(Academic/Open)
[ &= T sffeh Hred ]
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

g : 21 ge] [ g% : 80 (A1 : 40, WFHII : 40)
Time allowed : 21 hours] [ Maximum Marks : 80 (Part-I : 40, Part-II : 40)

ge-0= & AR # faeio B : -1 (oTeis) @ W11 (agfe) wemdt @ N e @ gt
% I B AU IAX PR F G 31 HA-0F B OAFHD G SN BN WX Ued Su-gRas
I G IR I e B0 0 R £ L (e s O O 22 R G
BN & % geT qd qdemel St w11 @ geE-u Rar smem

W % 97-0 & A 13 597 T AT & 99-09 F A 40 997 &

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 13 and of Part-II are 40.

o FYT T F T [ I % 3 Je7-09 § FRT g 8 a9 797 13 &1
Please make sure that the printed pages in this question paper of Part-I are 8 in
number and it contains 13 questions.

5503/(Set : A/ | P.T.O.
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(2) 5503/(Set : A)
T97-93 ¥ qle7 & @ T 79 T IS TR Tl Qe F A FA-JIaw H JEI-gT 9 @)
The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.
FY 7 S T 0@ & VT & G, J97 H HHH FaT [
Before beginning to answer a question, its Serial Number must be written.
FACGaH & & 4 @l g1/ 91 7 851
Don’t leave blank page/pages in your answer-book.

TR % SfaRTT & o e T& Al o elevaRdgar & ki@ siv fiar gav 7
#IC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

TRl STYTT Ut To FIT-YH T ST [rd

Candidates must write their Roll Number on the question paper.

FYFT 797 F I 37 @ [@ B Grad F T & 9797 g9 T GE & GhET I 59
T § Fig A arar @hwe T8 AT Tam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

G 59T -

General Instruction :

() @4 geT Sfard &

All questions are compulsory.
(i) 3T Fo7-97 F 7 fiT @ & 7 5 g7 g qe W E -

This question paper consists of three Sections which are divided as :

5503/(Set : A)/ |
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(3) 5503/(Set : A)
G TG HL G5 TF FTS FoT & T9% J97 2 3% F &1

Section A : This Section consists of 5 questions from 1 to 5, each of
2 marks.

GTF:398% 76 §10 T FT 5 F97 &, 4% J97 3 37 & &1

Section B : This Section consists of 5 questions from 6 to 10, each of
3 marks.

G T 57 @75 § 11 § 13 % 37 3 §97 &, Jo% J97 5 3% & &1

Section C : This Section consists of 3 questions from 11 to 13, each of

S5 marks.
(i) @€ G % TH Fo7 § AR A% k7 T 81 77 G BT §F F97 & FT 8

There are internal choices are given in all questions of Section C. But you

have to opt only one of them.

guE — o [M. M. : 10
SECTION - A
1. U Q@ dend S S, e 3 27 @ SR JoEwd 182 @ 2

Find two positive numbers whose sum is 27 and product is 182.

2. g A % Frdvi® o0 AT &1 AB 0% 99 # A &, NaH &% (2, -3) 8 a1 B &
e (1, 4) 2 2

Find the co-ordinates of a point A where AB is the diameter of a circle whose

centre is (2, -3) and co-ordinates of B is (1, 4).

5503/(Set : A/ | P.T.O.

Downloaded from cclchapter.com



(4) 5503/(Set : A)
3. TN F[ FHINT : 2

5cos? 60° + 4sec? 30° —tan? 45°
sin? 30° + cos? 30°

Evaluate :

5cos? 60° +4sec? 30° —tan? 45°
sin? 30° + cos? 30°

4. N & Y I F 0F q@E © S 6 e B omeR @ B, e e 48 ), 36
wd 28 HI E1 IHH AT G Bl 2

An underground water tank is in the form of a cuboid of edges 48 m, 36 m and
28 m. Find the volume of the tank.

5. T I H 3 @ X 5 FM I T AT A AT ggesAr B S 21 3Hen
miehaT 4 © % AT () A &, (i) T & & ? 2

A bag contains 3 red balls and 5 black balls. A ball is drawn at random from
the bag. What is the probability that the ball drawn is (i) red (ii) not red ?

gs — § [M.M:15

SECTION-B

6. zri%ﬁ%ﬁfﬁ:r%aiﬂeﬁ?aﬁﬁzshg&mm,a‘raa%éaﬁr%wi%a:fsmﬁ?

aﬁﬁsﬁgﬁmm,a‘rag%aaﬁ%|a€ﬁ:raﬁaﬁm| 3

A fraction becomes %, if 2 is added to both the numerator and the

denominator. If 3 is added to both the numerator and the denominator, it

becomes % Find the fraction.

5503/(Set : A)/ |
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(5) 5503/(Set : A)

7. I A.P. & 3131 98 S P orew 113F 78 38 B iR 1631 T 73 Bl 3
Find the 31st term of an A. P. whose 11th term is 38 and 16th term is 73.

8. UH Hel fhEl IR W 38 UHR el g8 & o gqem e R @R q 2.5 Hiew & gl

TR T g S R g & 6 X B FAE W N 0 Raga 7% ugaar 31 @ @
TS S AT 3

A ladder is placed against a wall such that its foot is at a distance of 2.5m
from the wall and its top reaches a window 6m above the ground. Find the

length of the ladder.

9. 3ur & e & Rwmn ™ 2, SEifhd 85 H 85%d sd PINT @1 a1 ABCD &l 9%
ol 14 |9 B 3

D C

Find the area of the shaded region as shown in figure where ABCD is a square

of side 14 cm.

5503/(Set : A/ | P.T.O.
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(6) 5503/(Set : A)

10. 5= 9ol & Tiftger sd ST : 3
ST 1-4 4_7 7-10 10-13 | 13-16 | 16-19
SIERSIEGI 6 30 40 16 4 4

11.

Find the median of the following data :

Class-interval 1-4 | 4-7 | 7-10 | 10-13 | 13-16 | 16-19
Frequency 6 30 40 16 4 4
gug — | [M. M. : 15
SECTION - C
=T aefieeen & g ® WRgs Bl & FH 7 Tahl 8 S 5
2l ogm &3
x-1 y-2 x-1 y-2

Solve the following pair of equations by reducing them to a pair of linear

equations :

x-1 y-2 x-1 y—2_

5503/(Set : A)/ |
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(7) 5503/(Set : A)
o Ay qd A B g W A G B AN Tl T ad ugEn I3 H g A A g
B A A S T SR A W A g e § 7

Five years ago, Nuri was thrice as old as Sonu. Ten years later, Nuri will be

twice as old as Sonu. How old are Nuri and Sonu ?

12. 5 &Y B & 0 90 W O & @3 G st WER 60° & HT W e & au
T % U& foiu 5

Draw a pair of tangents to a circle of radius 5 cm which are inclined to each

other at an angle of 60° and write steps of construction.

AYAT

OR
FF O W ga0 W e g 7 & & wef-x@w 7P o 70 @i w ¥ s @il f6
|PTQ =2 |OPQ &

Two tangents TP and TQ are drawn to a circle with centre O from an external

point T. Prove that | PTQ =2 |OPQ.

13. TF TFd MM W TSl HMR & BET 39 Rafq & 40 Hiex oy ol & SR & S
T ® I 60° F TEHT 30° B ST 81 HAR H HAR A Bl 5

The shadow of a tower standing on a level ground is found to be 40 m longer

when the Sun's altitude is 30° than when it is 60°. Find the height of the

tower.
YT
OR

5503/(Set : A/ | P.T.O.
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(8) 5503/(Set : A)
I % @ g 4, o R & we-feg | 30 HiX @ gl W §, MR & RER & e
PT 30° Bl HAR & HaE A o)

The angle of elevation of the top of a tower from a point on the ground, which

is 30 m away from the foot of the tower, is 30°. Find the height of the tower.

5503/(Set : A)/ |
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CLASS : 10th (Secondary) Code No. 5503
Series : Sec. April/2022

Roll No. SET : A
T
MATHEMATICS
HET - 11
PART - II

(aegfrs 9%)

(Objective Questions)

(Academic/Open)
[ T sffsh HreH ]
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o FUF FT B A B G % 57 G797 § GRT TT 8 T F97 40 &)

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 40 questions.

o ghEreff o7y T To FIT-UT G 39T [

Candidates must write their Roll Number on the question paper.

o U F97 F FAT &7 @ g7 I8 GARGT FC A [ G797 {7 T 7el 8, YT F YU 39
T 7 g 4 qar w&hHe T8 A aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 39T -
General Instruction :
() & FT S 8
All questions are compulsory.
(i) @& TIT Y Fv-gréae § ey

Write correct answer in your answer-book.

5503/(Set : A)/ I P.T.O.
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(2) 5503/(Set : A)

1. 5005 &l HHY UFEUEl & &Y § & Hio| 1

Express 5005 as a product of prime factors.

2. 3+2J/5 U URAY & T 7 STuRE| 1

3+ 2\/3 is a rational number or irrational number.

3. 510 3 92 & HCF 19 &1 1
Find HCF of 510 and 92.

4-%?@%%%%@4@%% 1

. 17 . . o . .
The rational number — is a terminating or non-terminating decimal expansion.

5. [&8M g0 6x° - 7x-3 & IR B TR ..oovvennnn. Bl 1
Product of roots of the quadratic polynomial 6x2 —Tx—3 1S oovvveennnn. .
G-ﬁm@a%wﬁww%ﬁw%aﬁ%@ww%: 1
A)  4x?+x+1 (B) 4x?-x-1
(C) 4x%-x+1 (D) 4x%+x-1

If sum of roots of the quadratic polynomial is _Tl and product is %, then the

quadratic polynomial is :

(A) 4x?% +x+1 (B) 4x? - x-1
(©) 4x% - x+1 (D) 4x% + x-1
7. Sanu & A= & Wad FHEl w O W 8 7 T 1

3x+2y=>5 T 2x-3y =7

Find out whether the following pair of linear equations is consistent or
inconsistent :

3x+2y=5 and 2x-3y=7

5503/(Set : A)/ I
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(3) 5503/(Set : A)

8. g% @@l 3x+4y =10 T x-y=1 & & & : 1
(A) x=1ly=2 B) x=3, y=1
C) x=2,y=1 D) x=4,y=3
The solution of linear equations 3x+4y =10 andx—-y=1 is :
(A) x=1ly=2 B) x=3, y=1
C) x=2,y=1 D) x=4,y=3

9. fau™ T 2x% +x-6=0 % WaH PrEvel § @ieq Hifm) 1
Factoris the quadratic equation 2x? + x -6 =0 into linear factors.

10. fEad g9 6x2 —x-2=0 %Iﬁf .............. gl 1
The roots of the quadratic equation 6x2—x-2=0 are .............. .

11. 3 fgaa &HEr 2x2 +hkx+2=0 & Y@ &IH &, af k & A9 © : 1
(A) =2 B) =5 () =3 D) =4
If the roots of the quadratic equation 2x? +kx+2=0 are equal, then the value
of kis :
(A) =2 B) =5 () =3 D) =4

12. p & 1 oM & [T 4x+py+8=0 T 2x+2y+2=0 FIHTH & FH H Th
arfedig & & ? 1

For which value of p does the pair of equations 4x+ py+8=0 and
2x+2y+2=0 has a unique solution ?

13. A.P.3,1,-1,-3, ..cc..... 1 dE ¥ e 1
Write the common difference of A. P. 3, 1, -1, -3, .............. .

14. A.P.7,13,19, ...... B L7 TG e, 2| 1
17th term of A. P. 7, 13, 19, ...... IS vieiiiinnn.. .
15. go| n Wk et & AT 2l 1

The sum of first n natural numbers is .............. .

5503/(Set : A)/ Il P.T.O.
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(4) 5503/(Set : A)

16. A.P.1,-1,-3,-5 cccvvvenr.... % T 9R 9§ faRau| 1
Write the next four terms of the A. P. 1, -1, -3, -5, ...............

17. & Brget ey B 21 (FwiEag, THag) 1
All ... triangles are similar. (isosceles, equilateral)

18. AMNL T AQPR EHEY T 30 P § THEU Hl HIF-8 HAC TM & 7 1
(A) S.S.S. M X
B) A.A.A.
( ) 25@.;('}'. 700 5@"% 5
(C) S.A.S.

70°
(D) 9 ¥ *i5 ol . L Q R
10 &t

AMNL and AQPR are similar triangles. In given figure which similarity criterion
is used ?

P
M
(A) S.S.s.
(B) A.A.A. 250m [ 70° N\ M 5c
(C) S.A.S. 700
N L Q R

(D) None of these 10 cm

19. F= B @ o & T B T | HH-A THRT B § 7 1
i 3o, 8 /4, 6 T
(i) 1339, 12 94, 5 a4

Sides of triangles are given below. Determine which of them is a right triangle ?
(i) 3cm,8cm,6cm
(i) 13 cm, 12 cm, 5 cm

20. 5 @l Bregr 9 UF 99 & g P 9 W@ PQ &% O & oM drell T @ § g Q
T 39 &R e 8 F 0Q = 12 &t 31 PQ & TR © : 1
(A) 12 & B) 13 &k (C) 8.5@ (D) 119 &

A tangent PQ at a point P of a circle of radius 5 cm meets a line through the
centre O at a point Q, so that OQ = 12 cm. Then the length PQ is :

(A) 12 cm (B) 13 cm (C) 8.5cm (D) 4119 cm

5503/(Set : A)/ I
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21.

22.

23.

24.

25.

26.

(5) 5503/(Set : A)
IR % g PH OF= a Rl 99 W PA, PBER@T WER 80° & &0 W fareredl &,
@ | POA X B : 1
(A) 50° (B) 60° (C) 70° (D) 80°

If tangents PA and PB from a point P to a circle with centre O are inclined to
each other at an angle of 80°, then | POA is equal to :

(A) 50° (B) 60° (C) 70° (D) 80°
TH qq B oo TR TRE & gl 2 1
A circle can have .............. parallel tangents at the most.
A
AR § DE|BCZ EC T i 1
1.5cm 1 cm
In figure DE|BC. Find EC.
D E

3cm

B C
frgall (-5, 7) T (-1, 3) % d= & T oo 2l 1

The distance between the points (-5, 7) and (-1, 3) is ............. .

T& U, frad fSgett (5, —6) X (-1, —4) F Sied 9 J@EETS By - fahE
HAT &, B ]
A) 1:5 (B) 5:1 (C) 3:2 (D) 2:3

The ratio in which the y-axis divides the line-segment joining the points (5, —6)
and (-1, 4) is:

(A) 1:5 B) 5:1 (C) 3:2 (D) 2:3
39 fog & fewns, s % fagall (-1, 7) oiR (4, -3) &l PN o Yomevs &l 2 @ 3 &
U # faiod &< @, @ ’
A) (3, 1) B) (5,2) © (2,9 (D) (1, 3)

The co-ordinates of the point which divides the join of (-1, 7) and (4, —-3) in the
ratio2 : 3 is:

(A 6, 1) (B) (5,2 € (2,9 (D) (1, 3)

5503/(Set : A)/ Il P.T.O.
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(6) 5503/(Set :
27. 7} sinA=% g, A tan A & AN A oM
If sin A= % , find the value of tan A.

1—tan®45°

28. S SR E
1+tan® 45°
(A) tan 90° B) 1
(C) sin45° (D) 0
1-tan?45° |
— 5 . is equal to :
1+tan® 45
(A) tan 90° B) 1
(C) sin45° D) O
29. sin 60° cos 30° +sin30° cos 60° & HM .............. Bl

sin 60° cos 30° +sin30° cos 60° is equal to .............. .

30. -3 W TE fog, s fagedt (2, -5) IR (-2,9) & T &, B :

(A) (7,0 B) (0,-7)
€) 5,0 (D) & & Fig T
The point on the x-axis which is equidistant from (2, -5) and (-2, 9) is:
@) (7,0 B) (0,7
(C) (-5, 0) (D) None of these
31. B 6 AW @ IR BrerEvE & FT 30°AW g9 B UGS H AABA |
A)  7n qEP (B) 9n P>
(C) 3m T2 (D) 6m >
Area of the sector of a circle with radius 6 cm and angle of sector 30° is :
(A)  7mcm? (B) 9mcm?
(C) 3m cm? (D) orn cm?

5503/(Set : A)/ I
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(7) 5503/(Set : A)
32. wF 93 I fe &1 g3, o TR 14 T3 W E EW 5 e § R W AW &

% B - ]
(&) 162 AP B 2 ¥e

3
© 22w D) @ & B T

The length of the minute hand of a clock is 14 cm. The area swept by the
minute hand in 5 minutes is :

154

(A) 162 cm? (B) — cm?
(@) QTOS cm? (D) None of these

33. 24 YW P FAR AR 6 W SMUR B A g H AT I B 1
Find the volume of the cone of height 24 cm and radius of base 6 cm.

34. U SO % I IO GG S B Bl G 1

Write the formula for finding out the curved surface area of the cylinder.

35. 3 &l BeW A ©F o1g @ T Bl AT 2 6 Bedr B O So a9Er Sl 81 S

H S B - 1
(A) 10 o (B) 8 T
(C) 9 & (D) 7 o

A metallic sphere of radius 3 cm is melted and recast into the shape of a
cylinder of radius 2 cm. The height of the cylinder is :

(A) 10 cm (B) 8cm
(C) 9cm (D) 7 cm
36. fhHl geT P WAHAT ............. IS T 3D SEK Bl B A e q 8id O
IqH X Bl B 1
The probability of an event is greater than or equal to .............. and less than
orequal to .............. .
5503/(Set : A)/ I P.T.O.
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(8) 5503/(Set : A)
37. fFr=ifafad & & -9 g el g & e 787 8wl ¢ ¢ 1
(A) % B) 15% (C) 0.7 (D) -1.5
Which of the following can not be the probability of an event ?
(A) % B) 15% (C) 0.7 (D) -1.5
38. UF A F Th IR Tobl S ol Th (A9H HEAN A B Bl B oo 2l 1
A die is thrown once. The probability of getting an odd number is .............. .
39. 1= AR & A1 © 1
- ST 0-2|2-4|4-6|6-8|8-10| 10-12 | 12-14
CIECSIEG 1 2 5 6 2 3
(A) 10.5 (B) 8.1 (C) 11.5 (D) 9.5
The mean of the following data is :
Class-interval | 0-2 | 2-4 | 4-6 | 6-8 | 8-10 | 10-12 | 12-14
Frequency 1 2 1 5 6 2 3
(A) 10.5 (B) 8.1 (C) 11.5 (D) 9.5

40. fhdr oo™ & 10 e A9t § fore T famel & g i €
2 6 45 0 2

1 3 2 3

T TSl BT gD T BT
The wickets taken by a bowler in 10 cricket matches are as follows :
2 645 0213 2 3
Find the mode of the data.

5503/(Set : A)/ I
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CLASS : 10th (Secondary) Code No. 5503
Series : Sec. April/2022
Roll No. SET : B

o
MATHEMATICS
AT -1
PART -1
(s )

(Subjective Questions)

(Academic/Open)
[ &= T sffeh Hred ]
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

g : 21 ge] [ g% : 80 (A1 : 40, WFHII : 40)
Time allowed : 21 hours] [ Maximum Marks : 80 (Part-I : 40, Part-II : 40)

ge-0= & AR # faeio B : -1 (oTeis) @ W11 (agfe) wemdt @ N e @ gt
% I B AU IAX PR F G 31 HA-0F B OAFHD G SN BN WX Ued Su-gRas
I G IR I e B0 0 R £ L (e s O O 22 R G
BN & % geT qd qdemel St w11 @ geE-u Rar smem

W % 97-0 & A 13 597 T AT & 99-09 F A 40 997 &

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 13 and of Part-II are 40.

o FYT T F T [ I % 3 Je7-09 § FRT g 8 a9 797 13 &1
Please make sure that the printed pages in this question paper of Part-I are 8 in
number and it contains 13 questions.

5503/(Set : B)/ | P.T.O.
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(2) 5503/(Set : B)
T97-93 ¥ qle7 & @ T 79 T IS TR Tl Qe F A FA-JIaw H JEI-gT 9 @)
The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.
FY 7 S T 0@ & VT & G, J97 H HHH FaT [
Before beginning to answer a question, its Serial Number must be written.
FACGaH & & 4 @l g1/ 91 7 851
Don’t leave blank page/pages in your answer-book.

TR % SfaRTT & o e T& Al o elevaRdgar & ki@ siv fiar gav 7
#IC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

TRl STYTT Ut To FIT-YH T ST [rd

Candidates must write their Roll Number on the question paper.

FYFT 797 F I 37 @ [@ B Grad F T & 9797 g9 T GE & GhET I 59
T § Fig A arar @hwe T8 AT Tam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

G 59T -

General Instruction :

() @4 geT Sfard &

All questions are compulsory.
(i) 3T Fo7-97 F 7 fiT @ & 7 5 g7 g qe W E -

This question paper consists of three Sections which are divided as :

5503/(Set : B)/ |
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(3) 5503/(Set : B)
G TG HL G5 TF FTS FoT & T9% J97 2 3% F &1

Section A : This Section consists of 5 questions from 1 to 5, each of

2 marks.
GE 37 G 46 10 7% F7 5 J97 &, 9% J97 3 3% F &1

Section B : This Section consists of 5 questions from 6 to 10, each of

3 marks.
G T 57 @75 § 11 § 13 % 37 3 §97 &, Jo% J97 5 3% & &1

Section C : This Section consists of 3 questions from 11 to 13, each of

S5 marks.
(i) @€ G % TH Fo7 § AR A% k7 T 81 77 G BT §F F97 & FT 8

There are internal choices are given in all questions of Section C. But you

have to opt only one of them.

guE — [M. M. : 10

SECTION - A
1. SF & Y O & 0% q@E 5 S 6 g & TR & B, fwa e 48 i, 36
Td 28 Wi B ITH ST S HiTTY 2

An underground water tank is in the form of a cuboid of edges 48 m, 36 m and

28 m. Find the volume of the tank.

2. I H 3 AN 5 B NS B3 AAH A wH T IgsA Ml SRy 1 6
miehaT @ © % AT () I &, (i) I T & ? 2

A bag contains 3 red balls and S black balls. A ball is drawn at random from

the bag. What is the probability that the ball drawn is (i) red (ii) not red ?

5503/(Set : B)/ | P.T.O.
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(4) 5503/(Set : B)

3. U & e T Hfw, RBE A 27 @ X BT 182 2N 2

6.

Find two positive numbers whose sum is 27 and product is 182.

frg A & e 719 FIBT ST AB T 99 # AW &, Fraw 3% (2, -3) : G B B
e (1, 4) 2 2

Find the co-ordinates of a point A where AB is the diameter of a circle whose

centre is (2, —=3) and co-ordinates of B is (1, 4).

AN ST BifTT 2

5cos? 60° + 4sec? 30° —tan? 45°
sin? 30° + cos? 30°

Evaluate :

5cos? 60° + 4sec? 30° —tan? 45°
sin? 30° + cos? 30°

guE - [M.M: 15
SECTION - B

S 5 R ¥ Ramn @ R, oEifhd 8 & 9% Sid PN SRl @ ABCD @ Udd
o 14 9 B 3

A B

5503/(Set : B)/ |
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(5) 5503/(Set : B)

Find the area of the shaded region as shown in figure where ABCD is a square

of side 14 cm.

7. = ARl S AR ST S 3
- 1-4 4 -7 7-10 10-13 13-16 16 - 19
SIECSIEG 6 30 40 16 4 4

Find the median of the following data :

Class-interval 1-4 4 -7 7-10 10-13 13-16 16 - 19

Frequency 6 30 40 16 4 4

8. qﬁﬁ:{ﬁfﬁﬂ%@#maﬁ?aﬁﬁzﬁgﬁmmﬁﬁa@%aaﬁr%wﬁaﬁmﬁ?

aﬁﬁsaﬁgﬁmm,a‘ra%gaaﬁ%|a€ﬁ:raﬁaﬁm| 3

A fraction becomes 121, if 2 is added to both the numerator and the

denominator. If 3 is added to both the numerator and the denominator, it

becomes % Find the fraction.

5503/(Set : B)/ | P.T.O.

Downloaded from cclchapter.com



(6) 5503/(Set : B)
9. I A.P. F 3197 T 31 HINIC o/ 114d7 98 38 B X 16d1 U8 73 2 3

Find the 31st term of an A. P. whose 11th term is 38 and 16th term is 73.

10. ©% HEl fEl SR W 39 TR fodl g8 © 6 gae e i der @ 2.5 #iew @ gl
TR T ga S R g & 6 X B FAE W N wF Ragad 7% ugaar 31 @ @
Siz RIS E 3

A ladder is placed against a wall such that its foot is at a distance of 2.5m
from the wall and its top reaches a window 6m above the ground. Find the
length of the ladder.

guE — g [M. M. : 15

SECTION-C

11. 5 &f Bed & 0% g0 W U & @i g st RER 60° % S [ fed & aon
T % U8 o 5

Draw a pair of tangents to a circle of radius 5 cm which are inclined to each

other at an angle of 60° and write steps of construction.

SLE|

OR
% O 90 99 W 98l g 7 8 & W@ 7P qn 7O @l & 31 fam &t 6
|PTQ =2 |OPQ &

Two tangents TP and TQ are drawn to a circle with centre O from an external

point T. Prove that | PTQ =2 |OPQ.

5503/(Set : B)/ |
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(7) 5503/(Set : B)
12. 0F TF0d SHF W @Sl MR & 8@ 39 Rafd & 40 Hiex ot ol & SR & S
T H I 60° F THT 30° B ST 81 HAR H HAB A Bl 5

The shadow of a tower standing on a level ground is found to be 40 m longer

when the Sun's altitude is 30° than when it is 60°. Find the height of the

tower.
7T
OR
I % @ 55 8, s 7R & Te-fag & 30 #iex @ g W B, MR & R & o=
FOT 30° Bl HAR & SHaR 7T Hie

The angle of elevation of the top of a tower from a point on the ground, which

is 30 m away from the foot of the tower, is 30°. Find the height of the tower.

13. = gl & g Bl WaH TRl & FH e & BT 5

L 3 g R
x-1 y-2 x-1 y-2

Solve the following pair of equations by reducing them to a pair of linear

equations :
%er— =2 and %—%—1
AYAT
OR
5503/(Set : B)/ | P.T.O.
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(8) 5503/(Set : B)
o aY gd TA B g WY A NG B AN Al T ad ugEn I3 B g A A g
B A A S T SR A W A g e § 7

Five years ago, Nuri was thrice as old as Sonu. Ten years later, Nuri will be

twice as old as Sonu. How old are Nuri and Sonu ?

5503/(Set : B)/ |
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(2) 5503/(Set : B)
1. §EA 3825 Hl AT TGSl & [ b &9 § G Bl 1

Express 3825 as a product of its prime factors.

2. 64 T 96 & HCF &1 &8 ? 1
What is HCF of 64 and 96 ?
3. % fEuN 9gwe S i, R S B AN T O HAS: -3 AR 2 B 1

Find a quadratic polynomial, the sum and product of whose zeroes are
-3 and 2 respectively.

4. K% & 9 & fog, Fret X afisel & 39 & O SAfEdd & § 7 1
4x+Ky+8=0Td 2x+2y+2=0

For what values of K does the pair of linear equations 4x + Ky + 8 = 0 and
2x + 2y + 2 = 0 has unique solution ?

5. K% 9 99 & g fEemd &idter K - 4x+2=0 & g9 K & 7 1
For what values of K, quadratic equation Kx* — 4x + 2 = 0 has equal roots ?

6. A.P.10,7, 4, ........ P 5d1 T S BT 1
Find 5th term of A. P. 10, 7,4 ............ .

7. g ¥ DE||BC 31 EC &I a8 S i) 1

1.5cm 1 cm
In figure DE || BC. Find length of EC.

D E
3 cm
B C
8. ZlﬁsinA:%,FﬁcosAEthlﬁgﬂﬁiﬁﬁlﬂl 1
) 3
If sinA= 2 find value of cos A.
9. sin 45° + cos 45° & HE A HISTY 1

Find the value of sin 45° + cos 45°.

5503/(Set : B)/ I
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10. 7 9 FBrwn A U% g9 & U BeUEvS H 4F%d A1 B, R B 60° 1
Find the area of a Sector of a circle with radius 7 cm if angle of the Sector is
60°.

II-WH@T%%@WWW%WWW| 1
Whether the Rational number % will have a terminating decimal expansion
or non terminating repeating decimal expansion.

12. fEEr FHIBT 322 - 5x + 2 = 0 % [Afderat sd S 1
Find discriminant of quadratic equation 3x*> - 5x + 2 = 0.

13. §HIX 91 7, 5,3, 1 ceee.... H TG SR S BT 1
Find common difference of A.P. 7,5, 3, 1 ........... .

14. AP.2,7,12 .o, ® U8 6 Tal HT IR FA i 1
Find the sum of first 6 terms of A.P. 2, 7, 12 ............ .

15. @9 g ............. B | (@H@Ey/ garTem) 1
All circles are ............... . (Similar/ Congruent)

16. fpdl 9o &1 W@ Iq ............ frgall W ufereRe Hl B 1
A tangent to a circle intersects it in ............... points

17. @ 95 @ 99 W @il & @Rl & Tl e B 2 1
The lengths of tangents drawn from an external point to a circle are ............ .

18. fygafl (-5, 7) & (-1, 3) & o9 A TU 7 Hio 1
Find distance between the points (-5, 7) and (-1, 3).

19. cos? 0+ sin? 0 B AN = ..o, BT B 1
The value of cos? 8 + sin? 0= ... :

5503/(Set : B)/ Il P.T.O.

(3) 5503/(Set : B)

Downloaded from cclchapter.com



20.

21.

22.

23.

24.

(4) 5503/(Set :

I P(E) = 0.15 B, @ ‘E -&I’ & Wiekdr & & ?
If P(E) = 0.15, what is the probability of event 'not E' ?

fr=ifeifeg & @ S9-9 9er oAy ® ?

a) 4 B) 5 (© 9 D) 16
Which of these is an Irrational number ?
N B) 5 © 9 (D) 16
femma SgTE 222 + 5x- 3 & LB H AHA ©

-3 -2 -5 -3
(A) Y (B) — (& = (D) =
Sum of zeroes of quadratic Polynomial 2x* + 5x - 3 is :

-3 -2 =5 -3
(A) Y (B) = (€) — (D) =

fEEme @Bt & 7 x—- 3y -3 =0 T 3x- 9y -2 =0 & &7 &I :

() tfada @ & (B) I3 & &

(C) HURFG % & (D) T & &1 T

The pair of linear equations x— 3y -3 = 0 and 3x—-9y - 2 = 0 has solution :
(A) Unique Solution (B) No Solution

(C) Infinitely Many Solutions (D) None of these

= @ B4 fEE qefe & 7

(A) (x+2) (x+1)=(x—-1) (x+3)

(B) X +3x+1=(x-2)°

(C) (x+1)*>=2(x-23)

(D) (x+2)°=2x(x*-1)

Which of these is a quadratic equation ?
(A) (x+2) (x+1)=(x—-1) (x+3)

(B) xX*+3x+1=(x-2)°

(C) (x+ 1)? =2(x-3)

(D) (x+2)°=2x(x*-1)

5503/(Set : B)/ I
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(5) 5503/(Set : B)

25. fgEM @HB o2 - 3x— 10 = 0 & Tl Bi ¢ 1
A) 5,2 B) 5,-2
(C) -5,2 (D) 5,3
Roots of the quadratic equation x> - 3x— 10 = 0 are :
A) 5,2 B) 5,-2
(C) -5,2 (D) 5,3
26. 3T § H-G A.P. Rl & ? 1
A) 2,4,8,12 ........... (B) 0.2,0.22,0.222 ..........
(C) 3,5,7,9 ... D) 1,2,4,8..........
Which one is A.P. series ?
A) 2,4,8,12 ........... (B) 0.2,0.22,0.222 ..........
(C) 3,5,7,9 ... D) 1,2,4,8 ..........
27. AABC 3R AQRP &7&Y BIgsl 1 78 queudl &l SH-8 HAe 33 e ? 1
(A) S.A.S. A v
(B) A.AA. ) 4 6 .
(C) S.S.S.
(D) T & F T B—Hs ¢ Q73— R

AABC and AQRP are similar. Which similarity criterion is used ?

P
(A) S.A.S. A
(B) A.AA. 5 3 6 5
(C) S.S.S.

Bs © Q77 R

(D) None of these

28. Qzﬁi%wgQ@f@ﬂﬁwwﬁ@a%wé%@rﬁwo%%a@rgﬁzsﬁ%g?r
CINEE:

A) 7 o (B) 12 qHI (C) 15 a4t (D) 24.5 99

From a point Q, the length of the tangent to a circle is 24 cm and distance of Q
from the centre is 25 cm. The radius of the circle is :

(A) 7cm (B) 12 cm (C) 15cm (D) 24.5cm

5503/(Set : B)/ Il P.T.O.
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(6) 5503/(Set : B)
29. IR TF g P ¥ O &% a [l g0 W PA T PB WY W@T WER 80° & & W

FH B, T |[POA T B : 1
(A) 80° (B) 70°
(C) 60° (D) 50°

If tangents PA and PB from a point P to a circle with centre O are inclined to
each other at angle of 80°, then | POA is equal to :

(A) 80° (B) 70°
(C) 60° (D) 50°
30. Rgalt (-1, 7) T (4, -3) H AN A WS & FF g & MRS ¢ ¢ 1
1
(A) (§,2j (B) (2, 1)

3 =&
@ (32 o [53)

Co-ordinates mid point of line joining two points (-1, 7) and (4, -3) is :

1
(A) (5, QJ B) (2, 1)
3 -3 1
@ (32 o [53)
81. y-o W fhdl forg & Fdeniss 8 : 1
(A) (6 Yy (B) (x, 0)
(©) (y, 0) (D) 0,y
Co-ordinates of any point on y-axis are :
A) (6 y (B) (% 0)
(©) (y,0) (D) 0,y
32. 7@ fag & fewnis® 2 € 1
(A) (% 0) (B) (0, 0) € (%Y (D) O,y
The co-ordinates of origin are :
(A) (% 0) (B) (0, 0) ©) (6 y (D) (0, y)

5503/(Set : B)/ I
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33. I UH IO H TR A ATEA TEAHE qEK &, qf 36 I P 509 § ¢ 1
(A) 2 HED (B) © AEI®
(C) 4 "=% (D) 7 HEl®
If the perimeter and area of a circle are numerically equal, then radius of the
circle is :
(A) 2 Unit (B) = Unit
(C) 4 Unit (D) 7 Unit

34. g % @ 9 Brewr § onudl Hey ® ¢ 1
(A) ¥ = _|;|23q| (B) =¥ = B
(C) &™ =2 x B (D) B =2 x&™
The relation between diameter and radius of a circle is :
(A) Diameter = Radif (B) Diameter = Radius
(C) Diameter = 2 x Radius (D) Radius = 2 x Diameter

35. F foraedt @, AR ok o HA: 10 ¥+, 6 &t qur 4 & B, @ oTE &R o 1
(A) 240 §9° (B) 250 a1
(C) 400 o= (D) 280 TH®

The volume of cuboid whose length, breadth and height are 10 cm, 6 cm and
4 cm respectively is :

(A) 240 cm® (B) 250 cm?®
(C) 400 cm? (D) 280 cm?
36. ROH Bl a M H IS &EA BN 8 1

A) nR? (B) 2 nR?
(C) 3=nR? (D) 4 nR°
Surface area of a sphere of radius Ris :
(A) nR (B) 2 nR
(C) 3nR? (D) 4 nR?

5503/(Set : B)/ I P.T.O.
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38.

39.

40.

(8) 5503/(Set : B)

Tl 5 Wigd HEstl & A ® 1

(A) S (B) 4 € 3 (D) 2

Mean of the first 5 Natural numbers is :

(A) S (B) 4 € 3 (D) 2

frfafea offwst 2, 3, 5, 3, 6, 4, 3, 5 & Tga® arm ¢ 1

(A) 2 B) 3 € 4 (D) S

Mode of the following data 2, 3, 5, 3, 6, 4, 3, 5 will be :

(A) 2 B) 3 C) 4 (D) S

T Id § 4 A T 6 F NS 51 A4 T § 0F A Agesdr Ml S o Fean 1. i

% T B Bl T BRT 1
2 4 6 3

(A) 5 (B) 5 (€) 0 (D) S

A bag contains 4 red and 6 black balls. A ball is drawn at random from the
bag. The probability that the ball drawn is red :

2 4 6 3

(A) 5 (B) 5 (€) 1d (D) 5

S @ H-d G Rl ge & TR 78 &1 e ? 1
2 o 3

(A) 3 B) 25% (@) . (D) 0.7

Which of the following cannot be probability of an event ?
2 o 3

(A) 3 B) 25% (@] 2 (D) 0.7

5503/(Set : B)/ I
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(2) 5511/(Set :
(i) @& TV HTH TAC-GikrH F [y

Write correct answer in your answer-book.

e AR g089% 997 T 397 @ I § G -

Answer the following questions in one word each :

1. 9 g fhe @ed B ?

What is known as Jewel Water ?

2. T O g AW @ g Efe IaEd

Tell one disadvantage to stitch clothes from tailor.

3. foafe @y & amn fhad it o8 S 2 7

Which item has maximum amount of Vitamin 'C' ?

4. Gfsgl ¥ H9-a1 Qv o HY 9 S 8 7

Which nutrient is found less in vegetables ?

5. TSl P AUSR &l H4T ?
Where we should keep Eggs ?

6. S P GHY S=I & 3N go fhar Bl 8 ?

What is the average weight of an infant at the time of birth ?

7. TF QIS RT 6 e

Write one example of Animal Stain.

8. WX A % IUX P AT T &l & 7

What is the temperature of a healthy human body ?

5511/(Set : C)/ I
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(3) 5511/(Set : C)

9. =1 fpall g H 95 &l § 7 1
At which age child become adult ?

10. & & d=g Sl B 8 ? 1

Write the type of Wool Filament.

dle : [ qglamedid Je7 % §E [aey gaHT Fav-grasr 4 e
Select the correct option of the following multiple choice questions and write in

answer-book :

11. STeNE 3l @ |e el @ ¢ 1
(A) 4 B) 16
(C) 20 (D) 24
The number of temporary teeth are :
(A) 4 (B) 16
(€) 20 (D) 24

12. BId §HAN W HE ad a6t 8 o ¢ 1
(A) = (B) &&
(©) & (D)
Clothes purchased from small shops are :
(A) Costly (B) Cheap
(C) Light (D) Heavy

13. e H W 8 1
(A)  UTD (B) T
(C) 39S & il AW (D) ¥ @+l

5511/(Set : C)/ 1l P.T.O.
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Source of iron is :
(A) Spinach
(B) Jaggery
(C) Yellow part of Egg

(D) All of these

14. HOW &1 79 8 ¢ 1
(A)
(B) R
(©) fom
(D) 3 @il
Workmanship mean :
(A) Measurement
(B) Cutting
(C) Stitching

(D) All of these

5511/(Set : C)/ I
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15. 9l & gemdia A @ (F9 & ) ¢ 1

(A) e

(B) g

(C) ufdfe

(D) 3 @il

Water-soluble blue is (for fabric) :

(A) Indigo

(B) Ultramarine

(C) Persian

(D) All of these

16. TS 7 FTOA AF & [T FAT B & ° 1
(&) e B) e
(C) &y (D) ¥ @+l
For starching the clothes, we use :
(A) Maida (B) Gum
(C) Potato (D) All of these
5511/(Set : C)/ Il P.T.O.
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(6)
17. = & eRedl & worae ol % -
(A) diEw & (B)
(©) e & (D)
Bones of children get strong by :
(A) Calcium (B)
(C) Iron (D)

18. YER ¥ [ YbR P Ao 7@ -1 =y ?

19.

(A) T T T Ao (B)
(C) Ra=dl, aferan (D)

5511/(Set

a9
RN |

Fat

Iodine

o g A Al
3g, I

Which of the following food should not be taken in fever ?

(A) Liquid and hot food
(B) Fried and heavy food
(C) Khichadi, Daliya

(D) Milk, Tea

fymae @ oref & -
(A) T& olX gfear veref
(B) WRA % [T eeRe® Tl e

(C) 9IS ¥ | STAI% a<al Bl (e

(D) SudE @+t

5511/(Set : C)/ I
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(7) 5511/(Set : C)
Adulteration mean :
(A) To add cheap and low quality items
(B) To add items which are harmful to health
(C) To remove nutrients from food

(D) All of the above

20. 3hs e o e & ? 1
(A) o (B) =
(C) e (D) ST gt
Growth is a part of .............. .
(A) Development (B) Personality
(C) Learning (D) All of the above

dle ;[ geT & @il ®T XET Fav-griasr § g -

Answer the following questions by filling the blanks and write in answer-book :

21, oo ¥ TEH g, 39 e Pl TS B § qER S T ol 1
Vegetables, Milk, etc. can be saved by keeping in .............. .

22. 3MEo o THo RO A .oeevee... AR |y fFiRa e 2 1

X -1 U e gerY 2 1
Milk is .............. food item.
5511/(Set : C)/ II P.T.O.
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24. TR HN GO AUEX F AN B AT F BT =Ry

Dinner should be .............. as compare to Lunch.

25. i, /e H S 93, Y19 STsE 99 I, HHET N i dehdl 8l

.............. month child can speak simple words like Kaka, Mama, etc.

26. faeie S & B H ..o I B B
Vitamin 'B' deficiency occurs .............. disease.

27. FAGH oo T & 96 YeA e

28. FET ...ooocenn., F O 2l

29. UE B &FT ..o 2l

30. T IO H AT oo Bl

'A' Grade Protein is .............. .

5511/(Set : C)/ I
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o PU G F A B I F 59 9797 § GRa g 8 Tl F97 40 &)

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 40 questions.

o G STy R To JeT-gH T e [
Candidates must write their Roll Number on the question paper.
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Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

T 39T -
General Instruction :
(i) &# g7 oA 8
All questions are compulsory.
(@) &l T Y TG 7 [y

Write correct answer in your answer-book.
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(2) 5503/(Set : C)

1. §&I1 196 H ANSY UFEUS] & UG & &Y § e B 1
Express 196 as a product of its Prime factors.

2. 36 3R 78 @ HCF 41 &N ? 1
What is HCF of 36 and 78 ?

3-@%’%@3%%,%%@%%@3@%%&1:1@?%% 1

Find the quadratic polynomial, the sum and product of whose zeroes are 1 and

1 .
2 respectively.

4. K& fo AWt & forg, 7 W F@T x+y+7=0 R 3x+Ky+5=0 % TH ®H
TH e & & 7 1

For what values of K does the Pair of linear equations x+y+7=0 and
3x+ Ky +5 =0 has unique solution ?

5. K& 58 99 & o fau @il x2 + Kx +4=0 & Jd WER ¢ ? 1
For what values of K, quadratic equation x? + Kx +4 =0 has equal roots ?
6. AP.7,13,19 .......... F 1137 T G i 1
Find 11th term of A.P. 7, 13, 19 .......... .
7. & E oM ¥ DE||BC, @ DB &I @aE 5 B A 1
1.2 cm, 1.8 cm
In given figure DE || BC, find length of DB. b .
5.4 cm
B C
8. qﬁcosA:%,a‘rtanAemrrﬁraﬁzﬁﬁm 1
12
If cosA= 3 find the value of tan A.
210" o i 1
1+ tan“45°
Find the value of %.
1+ tan” 45°

5503/(Set : C)/ I
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10. 6 ¥ B39 a1 U% 990 B TS HoUEUS H AFAB A BN, TR BT 60° B 1
Find the area of a sector of a circle with radius 6 cm, if angle of the
sector is 60°.

11.Wmﬁ%aawwm%mmﬁaﬁ?ﬁ| 1
Whether the Rational number will have a terminating decimal
expansion or non terminating repeating decimal expansion.

12. [Z8M HETT x2 +7x - 60 =0 % {dfdeRsT S Hio 1
Find discriminant of quadratic equation x2 + 7x-60=0.

13. §uRR 39 13, 15%, 18, 20%, ........ F T X T T i
Find the common difference of A.P. 13, 15%, 18, 20%, ......... .

14. AP.2,7,12,17, ......... % JH 10 Y& 1 IR S i 1
Find the sum of first 10 terms of A.P. 2, 7, 12, 17, ............

15. TH T covvvvnnnnn B B (7Y /qarTas) 1
All circles are .............. (Similar/ Congruent)

16. TF g &l ..o TR WIREW & Tl 2 1
A circle can have ............. parallel tangents at the most.

17. g9 G I WG & SHAS &g Bl ..o Fed 2 1
The common point of a tangent to a circle and the circle is called ........... .

18. gt (0, 0) IR (-6, 8) & &= & T T i) 1
Find the distance between the points (0, 0) and (-6, 8).

19. sin?0+cos?® B AT = coovrrrrinnns 2K 3 1
The value of sin? 0+ cos?8 = ...........

5503/(Set : C)/ 1l P.T.O.
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20.

21.

22.

23.

24.

(4) 5503/(Set

I P(E)=0.03,dq PETE) & a9 #1 8 ?
If P(E)=0.03, what is value of P (not E) ?

frafafag & @ sF-d 9 ouiay 2 °?

A) 2v4 B) 9 (C) 2++3 (D)
Which of these is an irrational number ?
A) 2v4 B) 9 (C) 2++/3 (D)
fEETd 9gue 3x° —x -4 % LI B IOFHA BT

-3 1 —4
(A) e (B) 3 (©) 3 (D)

Product of zeroes of quadratic polynomial 3x%2-x-4 is:

-3 B c -2

W3 3 3

(D)

fmT @it & T x -2y +3=0 T 3x -6y +9=0%F & B :

(A) A& T B (B) I3 & T

(C) oTRMT eM® & (D) ™ ¥ Hiz Tl

The pair of linear equations x -2y +3 =0 and 3x-6y+9 =0 has solution :
(A) Unique solution (B) No solution

(C) Infinitely many solutions (D) None of these

T @ H-9 fEE aHimeT 8 5 7

A) (x+12=2(x-3) B) x2-2x=-2(3-x)

(C) x%-3x=10 (D) x2+3x=(x-2)°

Which of these is not a quadratic equation ?
A) (x+1)* =2(x-3) (B) x?-2x=-2(3-x)

(C) x?-3x=10 (D) x2+3x=(x-2)°

5503/(Set : C)/ I
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(5) 5503/(Set : C)

25. fEEM @HHT 3x° —~x -4 =0 &% Yo 8 1
4 4 ~4 ~4
A -1,— B) 1,— C) -1,— D) 1,—
(A) 3 B) 13 (©) 3 (D) 3
Roots of the quadratic equation 3x%2-x-4=0are :
4 4 -4 -4
A -1,— B 1,— c) -1,— D) 1,—
® -1 B 17 © -1 D) 1
26. T q - AP. R ® ? 1
A 1,3,9,27, ......... B) -7,-4,-2,0, ..........
(C) 0.6,1.7,2.7,3.9, ccccuneennenn D) a, 2a, 3a, 4a, ............
Which one is A.P. series ?
(A 1,3,9,27, ......... B) -7,-4,-2,0, ..........
(C) 0.6,1.7,2.7,3.9, cccoenrnnen. (D) a, 2a, 3a, 4a, ............
27. AABC dR ADEF G9&U B9 &1 39 THEUl & $HIF-81 HAe Jam erft ? 1
C E
30° 60°
60° 30°
A B D F
(A) S.S.S. B) S.A.S.
(C) A.A.A. (D) T 9 %5 -l
AABC and ADEF are similar. Which similarity criterion is used ?
C E
30° 60°
60° 30°
A B D F
(A) S.S.S. B) S.A.S.
(C) A.A A. (D) None of these
5503/(Set : C)/ I P.T.O.
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28.

29.

30.

31.

32.

(6) 5503/(Set : C)
5 & Brear 9l T g9 & g P W W@ PQ &% O § S amal Th @l ¥ g Q W
39 YR el & 5 0Q = 12 94 PQ &1 &= # : 1
(A) 12 @@ (B) 13 @ (C) 8.5 & (D) 119 &

A tangent PQ at a point P of a circle of radius 5 cm meets a line through the
centre O at a point Q so that OQ = 12 cm. Length PQ is :

(A) 12 cm (B) 13 cm (C) 8.5cm (D) +119 cm

qﬁ@ﬁgpﬁo%aa@rﬁm%aawmammwﬁamwsm%wwaﬁ
&, @ |[POA T B :

(A) 80° (B) 50° (C) 60° (D) 70°

If tangents PA and PB from a point P to a circle with centre O are inclined to
each other at angle of 80°, then | POA is equal to :

(A) 80° (B) 50° (C) 60° (D) 70°
Rrgalt (-2, 5) & (4, -3) F FeM A YEEE & w6 g & s § 1
(A) (1, 1) B) (2,2) € 2,1 (D) (1,2)

Co-ordinates of mid-point of line joining two points (-2, 5) and (4, -3) are :

(a) (1, 1) B (2,2 © (2,1 D) (1, 2)
X8 T R faeg & Fdaries 8 1
(A) (% 0) B (Y (©) (0, y) (D) (0, x)

Co-ordinates of any point of x-axis are :

(A) (% 0) B) (% y) € ©,y (D) (0, x
T fog & fewi® © 1
A) (% Y (B) (x, 0) € ©,y (D) (0, 0)

The co-ordinates of origin are :

A (Y (B) (x 0) € 0,y (D) (0, 0)

5503/(Set : C)/ I
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33. I9 OF B AT T B Forel Brewr 3 & dor SO 7 AW s 7 1
(A) 21m qHr° (B) 22rn a¥®
(C) 66m T’ (D) 44n W’
The volume of a cone, whose radius 3 cm and height 7 cm is :
A) 21lmem?® (B) 22ncm?
(C) 66mcem?® (D) 44ncm?®
34. gq % A9 au Bew F & u deig © 1
(A) B =2 x &M (B) &M =2 x B4
(C) Beur ==y (D) =¥ = %'TET
The relation between diameter and radius of a circle is :
(A) Radius = 2 x Diameter (B) Diameter = 2 x Radius
(C) Radius = Diameter (D) Diameter = Radius
35. UF FHI &I BoAT 4 Qi Q, AN IHH T ST B 1
(A)  16maH? (B) 32n a2
(C) 48n {Hi? (D) 64n TH>
The surface area of semicircle, whose radius is 4 cm :
(A) 16mcm? (B) 32mcm?
(C) 48mcm? (D) 64mcm?
36. gq %l URM AR A H AIUC & : 1
(A) 2:m B 1:1 G m:1 D) 1:2=m

The ratio of circumference and diameter of the circle is :

(A) 2:m B 1:1 G m:1 D) 1:2=m

5503/(Set : C)/ Il P.T.O.
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37.

38.

39.

40.

(8) 5503/(Set : C)

fer=ifoiad afferet @1 A1 @ B ?

2,4,6,8,10
(A) 6 B) 7 € 8 (D)
What is mean of the following data ?

2,4,6,8,10
(A) 6 B) 7 € 8 (D)

fr=ffta ifbs! &1 agaih a1 e ?

3,2,5,0,4,3,4,2,4
(A) 2 B) 3 € 4 (D)
What is mode of the following data ?

3,2,5,0,4,3,4,2,4

Aa) 2 B) 3 (©) 4 (D)
ST | DI-H | el ge & TR 787 of Qe ¢

(A) % B) 15% (C) 0.75 (D)
Which of the following cannot be probability of an event ?

(A) % B) 15% (C) 0.75 (D)
fpelt g @ mieedT ... 4 9 O 6D TOEK B © adl ...
S T B B

a) 1,-1 B) 0,1 © 1,0 (D)

The probability of an event is greater than or equal to ...........

or equal to ............... .

A 1,-1 B) O,1 <© 1,0 (D)

5503/(Set : C)/ I
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CLASS : 10th (Secondary) Code No. 5503
Series : Sec. April/2022
Roll No. SET : D

o
MATHEMATICS
AT -1
PART -1
(s )

(Subjective Questions)

(Academic/Open)
[ &= T sffeh Hred ]
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

g : 21 ge] [ g% : 80 (A1 : 40, WFHII : 40)
Time allowed : 21 hours] [ Maximum Marks : 80 (Part-I : 40, Part-II : 40)

ge-0= & AR # faeio B : -1 (oTeis) @ W11 (agfe) wemdt @ N e @ gt
% I B AU IAX PR F G 31 HA-0F B OAFHD G SN BN WX Ued Su-gRas
I G IR I e B0 0 R £ L (e s O O 22 R G
BN & % geT qd qdemel St w11 @ geE-u Rar smem

W % 97-0 & A 13 597 T AT & 99-09 F A 40 997 &

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 13 and of Part-II are 40.

o FYT T F T [ I % 3 Je7-09 § FRT g 8 a9 797 13 &1
Please make sure that the printed pages in this question paper of Part-I are 8 in
number and it contains 13 questions.
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(2) 5503/(Set : D)
T97-93 ¥ qle7 & @ T 79 T IS TR Tl Qe F A FA-JIaw H JEI-gT 9 @)
The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.
FY 7 S T 0@ & VT & G, J97 H HHH FaT [
Before beginning to answer a question, its Serial Number must be written.
FACGaH & & 4 @l g1/ 91 7 851
Don’t leave blank page/pages in your answer-book.

TR % SfaRTT & o e T& Al o elevaRdgar & ki@ siv fiar gav 7
#IC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

TRl STYTT Ut To FIT-YH T ST [rd

Candidates must write their Roll Number on the question paper.

FYFT 797 F I 37 @ [@ B Grad F T & 9797 g9 T GE & GhET I 59
T § Fig A arar @hwe T8 AT Tam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

G 59T -

General Instruction :

() @4 geT Sfard &

All questions are compulsory.
(i) 3T Fo7-97 F 7 fiT @ & 7 5 g7 g qe W E -

This question paper consists of three Sections which are divided as :

5503/(Set : D)/ |
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(3) 5503/(Set : D)
G TG HL G5 TF FTS FoT & T9% J97 2 3% F &1

Section A : This Section consists of 5 questions from 1 to 5, each of

2 marks.
G F 30 %€ 46 § 10 7% F7 5 497 &, J9% 497 3 3% @ &l

Section B : This Section consists of 5 questions from 6 to 10, each of

3 marks.
&% 7 : 57 @€ 4 11 & 13 % %7 3 497 &, J9% Jo7 5 e @ &/

Section C : This Section consists of 3 questions from 11 to 13, each of

5 marks.
(i) GOT & B TH FoT 7 STINE [AFT [T T &1 579 G AT T J7 & FA &1

There are internal choices are given in all questions of Section C. But you

have to opt only one of them.

gug — o [M. M. : 10

SECTION - A

1. & 39 & 3 @MW X 5 &l 76 &1 36 90 § 9 Uh A% grgesdr Marl S 81 56
et @ & % AT () A @, (i) T e e ? 2

A bag contains 3 red balls and 5 black balls. A ball is drawn at random from

the bag. What is the probability that the ball drawn is (i) red (ii) not red ?

2. ¥ @ e T A, B 9 27 @ X BT 182 @ 2

Find two positive numbers whose sum is 27 and product is 182.

5503/(Set : D)/ | P.T.O.
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3. g A & FRxi® o9 FIVT f AB TF g0 H 9 ¢, FeH &= (2, -3) & 701 B &

6.

fen® (1, 4) B 2

Find the co-ordinates of a point A where AB is the diameter of a circle whose
centre is (2, =3) and co-ordinates of B is (1, 4).

AN ST BifTT 2

5cos? 60° + 4sec? 30° —tan? 45°
sin? 30° + cos? 30°

Evaluate :

5cos? 60° +4sec? 30° —tan? 45°
sin? 30° + cos? 30°

M & AR O B % e § S % T @ TR @ ®, frae gemd 48 W, 36 W
wd 28 HI E1 IHH A G Hio 2

An underground water tank is in the form of a cuboid of edges 48 m, 36 m and
28 m. Find the volume of the tank.

gus — § [M.M:15
SECTION-B

= |l 1 Aiegeh S i 3
T-ST 1-4 4-7 7-10 10-13 13-16 16 - 19
ELSSIRGII 6 30 40 16 4 4

Find the median of the following data :

Class-interval 1-4 4 -7 7-10 10-13 13-16 16 - 19
Frequency 6 30 40 16 4 4

5503/(Set : D)/ |
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(5) 5503/(Set : D)
7. Hﬁﬁ:{ﬁfﬁﬂ%aﬁﬂaﬁ?aﬁﬁzﬁgﬁmm,ﬁas%aaﬁr%wﬁaﬁmﬁ?

aﬁﬁssﬁgﬁmm,a‘r%%aaﬁ%%maﬁm| 3

A fraction becomes %, if 2 is added to both the numerator and the

denominator. If 3 is added to both the numerator and the denominator, it

becomes % Find the fraction.

8. I A.P. & 314 U8 S HINC oTHH 1147 98 38 ® X 16d1 T& 73 Bl 3

Find the 31st term of an A. P. whose 11th term is 38 and 16th term is 73.

9. wh il R daR W g9 TR b gE & 6 gEeh Fremm {0 dER | 2.5 de &gl
TR T g6 S R 9 & 6 HieX B FAE W N 0 Ragad 9% ugaar 31 @ @
Si= RN E 3

A ladder is placed against a wall such that its foot is at a distance of 2.5m
from the wall and its top reaches a window 6m above the ground. Find the

length of the ladder.

10. o7 f RE & REmr o R, sEifed &9 & 89%d S HIS @l & ABCD @ Ud®

9o 14 9 B R . 3

5503/(Set : D)/ | P.T.O.
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(6) 5503/(Set : D)

Find the area of the shaded region as shown in figure where ABCD is a square

of side 14 cm.

gug — g [M. M. : 15

SECTION-C

11. UF §9q0 oA W @Sl 4MR & o@r 39 Refd d 40 Hiex sifte @l & ol & Safh
T B ST 60° § geHT 30° B I &1 HAR B SR 7T ST 5

The shadow of a tower standing on a level ground is found to be 40 m longer

when the Sun's altitude is 30° than when it is 60°. Find the height of the

tower.

7T
OR
I % & g 4, o 99R & T | 30 iR @ gl W §, MR & R & e
FOT 30° B HAR & SHaAR T Ao

The angle of elevation of the top of a tower from a point on the ground, which

is 30 m away from the foot of the tower, is 30°. Find the height of the tower.

5503/(Set : D)/ |
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(7) 5503/(Set : D)

12. 7 g6l & g & s THETl & 30 § el & ST 5

i+ L =2 a4 L—izl
x-1 y-2 x-1 y-2

Solve the following pair of equations by reducing them to a pair of linear

equations :

x-1 y-2 x-1 y—2:
AYAT

OR

o A gd T8 B Sy A A g B AN T el 5w g I8 A g /g H g
% & A A S T8 SR G @ e g e B 7

Five years ago, Nuri was thrice as old as Sonu. Ten years later, Nuri will be

twice as old as Sonu. How old are Nuri and Sonu ?
13. 5 @i Bowr & % g9 W A § W@ i S WER 60° % BT 9X e & qur
W & U5 g 5

Draw a pair of tangents to a circle of radius 5 cm which are inclined to each

other at an angle of 60° and write steps of construction.
YqT

OR

5503/(Set : D)/ | P.T.O.
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% O 90 gq W 96l g 7 & & &i-x@n 7P d1 70 @ | ¥ e #ifbm 6
|PTQ =2 |OPQ &

Two tangents TP and TQ are drawn to a circle with centre O from an external

point T. Prove that | PTQ =2 |OPQ.

5503/(Set : D)/ |
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CLASS : 10th (Secondary) Code No. 5503
Series : Sec. April/2022

Roll No. SET : D
T

MATHEMATICS
HAT - 11
PART - II

(aEgfrs 9%)

(Objective Questions)

(Academic/Open)
[ &=t ud ST Are |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o PU I F A B I F 59 9799 § GRa g 8 79T F97 40 &)

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 40 questions.

o ghereff o1y T To FIT-UA T 9T @)

Candidates must write their Roll Number on the question paper.

o U F97 F FAT &7 @ g7 I8 GARGT T @ [ 49797 {7 T Fel 8, YT F YU 39
T 7 g o @ w&hH T8 RAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

T 39T -
General Instruction :
() & FT S 8
All questions are compulsory.
(i) @& TV HTH TAC-GierHl 7 [y

Write correct answer in your answer-book.
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(2) 5503/(Set : D)
el 156 & AAPY [OEEl & OFhA & &Y § e Hio 1

Express 156 as a product of its prime factors

26 X 91 & HCF &1 B ? 1
What is HCF of 26 and 91 ?
U & ague S S, R gl H AR q oA FE: -3 X 2 B 1

Find the quadratic polynomial, the sum and product of whose zeroes are
-3 and 2 respectively.

K % B a9 & fe, 1 Wes @il & g &1 315 o el e ¢ 1
x-Ky+4=03R 2x-6y—5=0|

For what values of K does the pair of linear equations x — Ky + 4 = 0 and
2x -6y — 5 = 0 has no solution.

K % & At & fore faama afeer x2 - K+ 9 = 0% Ja S&y 8 1

For what values of K, quadratic equation x?-Kx+9 =0 has equal roots ?

A.P.1,4,7, ... T 7d1 TS TG BT 1
Find 7th term of A. P. 1, 4, 7, ...... :
AFT # DE || BC Bl EC %! a1 F1d Hifor A 1

In fi DE || BC. Find length of EC.
n figure [ ind length o 5 om e

D E
6 C
B C
tri%sinAzg,a‘TcosAamrrFramzrﬁﬁm 1
If sinA:%, find the value of cos A.
sin 45° + cos 45° & " 3d HISTT 1

Find the value of sin 45° + cos 45°.

5503/(Set : D)/ I
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10. 7 99 BF9 a1 OF 39 & UF OUETE & AEA S HieTS, RTeE BT 90° B 1
Find the area of a sector of a circle with radius 7 cm if angle of the
sector is 90°.

ll'wﬁﬁqﬁw%%@wwm%mmmﬁ i
Whether the rational number will have a terminating decimal
expansion or non-terminating repeating decimal expansion.

12. fEE G 2x2 —5x+2=0 % fafewax @@ A 1
Find discriminant of quadratic equation 2x2 -5x+2=0.

13. @K 87,5, 3, 1, oo P HE ST S B 1
Find the common difference of A. P. 7,5, 3,1, ..ccc......... .

14. A.P.:2,7,12, ....... % U&d 6 W&l & AN S HioT 1
Find the sum of first 6 terms of A. P. : 2, 7, 12, ........ .

15. T @ oo 3 Bl (77 arT) 1
All squares are .............. . (Similar/ Congruent)

16. el g0 & & fgef W UReeE & Al @M B .o Fed Bl 1
A line intersecting a circle in two points is called ............... .

17. 9@ 65 8 99 W @il & w@eRamsl & T @mal .o 2l 2| 1
The lengths of tangents drawn from an external point to a circle are ............. .

18. gl (-2, 3) 8l (-5, 1) & = & g4 &K H 1
Find the distance between the points (-2, 3) and (-5, 1).

5503/(Set : D)/ 1l P.T.O.
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19.

20.

21.

22.

23.

24.

(4) 5503/(Set :

1+tan20 & A = oo, BT B

The value of 1+tan2 0=............... .

e P(E) = 0.25 %, @ 'E T& &l sk & e ?
If P(E) = 0.25, what is the probability of event 'not E' ?

fr=ifeiieg & @ @F-d gen sufdEy B 7

A) 4 B) 9 (C) 342 (D) 16
Which of these is an irrational number ?
A) 4 B) 9 (C) 342 (D) 16
feemd ague 2x2% + x -3 B LB BN AEA © ¢

-3 -1 S 2
(A) oy (B) ) (©) P (D) 3
Sum of zeroes of quadratic polynomial 2x2 +x-3 is:

-3 -1 5 2
(A) > (B) D) (©) ) (D) 3

fEerd | & FH x+ 3y -3 =0T 2x+ y—5=0H &7 B :

(A) A& Th B (B) % & el

(C) STURMFG 3% & (D) 3™ | ®iE T
The pair of linear equations x+ 3y —3 = 0 and 2x + y — 5 = 0 has solution :
(A) Unique solution (B) No solution

(C) Infinitely many solutions (D) None of these
T & FH-a fEEa wlwer ®

(A) x2+3x+1=(x-2)° (B) (x+1)% =2(x-3)
(C) (x+2) (x+1)=(x—1) (x-3) (D) (x+2)° =2x(x% -1)
Which of these is a quadratic equation ?

(A)  x%+3x+1=(x-2) B) (x+1)% =2(x-3)
(C) (x+2) (x+1)=(x-1) (x-3) D) (x+2)% =2x(x*-1)

5503/(Set : D)/ I
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(5) 5503/(Set : D)

25. faam @il x% -5x+6=0 & A & : 1
A) 2,3 B) 6,1 (C) -3,2 (D) 3,-2

Roots of the quadratic equation x> -5x+6=0 are:

A) 2,3 (B) 6,1 (C) -3,2 (D) 3,-2
26. 379 q HF-A A. P. Rl & ? 1
A) 1,3,7,12, ....... (B) 0.3,0.33, 0.333, .......
(C) 2,4,7,11,....... (D) 3,6,9,12, .......
Which one is A. P. series ?
A) 1,3,7,12, ....... (B) 0.3,0.33, 0.333, .......
(C) 2,4,7, 11, ........ (D) 3,6,9,12, .......
27. AABC SR APQR &Y BIgS B| §7H H9EUdl &l HH-9 HAC! SER 8 ? 1
C R
A sam b P 6o O
(A) S.A.S. (B) A.A.A.
(C) S.S.Ss. (D) ™ | Fiz Tl

AABC and APQR are similar. Which similarity criterion is used ?

C R
Qcmk mk
[ ] [ ]
A 3cm B P 6cm Q

(A) S.A.S. (B) A.A.A.
(C) S.S.S. (D) None of these
5503/(Set : D)/ I P.T.O.
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28.

29.

30.

31.

32.

(6) 5503/(Set : D)
Q%iﬁgQﬁ@gﬁwwﬁwaﬁwré%arﬁwQa%%aﬁgﬁzsarﬁ%qaa%
B 1

(A) 12 8 (B) 7 oW (C) 15 T (D) 24.5 ¥

From a point Q, the length of the tangent to a circle is 24 cm and distance of
Q from the centre is 25 cm. The radius of the circle is :

(A) 12 cm B) 7cm (C) 15cm (D) 24.5cm
I g P A O 3% I Rl 99 W PA 91 PB W@ WER 70° & H T
g B, A IPOA TR B ¢ 1
(A) 80° (B) 70° (C) 55° (D) 60°

If tangents PA and PB from a point P to a circle with centre O are inclined to
each other at angle of 70°, then IPOA is equal to :

(A) 80° (B) 70° (C) 55° (D) 60°

frgalt (2, 5) o (4, 2) F FreM AR Y@rETE & " g @ s § 1
5 7 7

@) (3, E) ®) (3, Ej © (3,3 D) [5, 3]

A) (3, 5) (B) [3, Zj © (3,3 D) (3,3]

2 2 2
X8 W R fog & fRderiss 2 1
A) (6 y (B) (% 0) (€) 0,y (D) (y, 0)

Co-ordinates of any point on x-axis are :

(A) (6 Yy (B) (% 0) (€) 0,y (D) (y, 0)

T fog & fewi® © 1
(A) (% 0) B) (% y)

(€) 0,y (D) FH & &1 T

5503/(Set : D)/ I
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The co-ordinates of origin are :

() (x 0) B) (Y
(€) 0,y (D) None of these

33. TH o9 & AFAT 216 6 8, A 366 ol & dag o 1
A) 8 (B) 74 (C) 6% (D) 54t

The volume of a cube is 216 m®, then the length of its side will be :

(A) 8m (B) 7m (C) 6m (D) 5m
34. g9 % A9 9 B § oo Hey ® ¢ 1
(A) =g = e (B) & =2 x
(C) =™ = et (D) Bar=2xa™

2

The relation between diameter and radius of a circle is :

(A) Diameter = Radius (B) Diameter = 2 x Radius
(C) Diameter = Radius (D) Radius = 2 x Diameter
35. o1 2 ¥ q SO 7 O A SO B 9h T SH e 1
(A) 44 TP (B) 88 TH" (C) 154 qHP (D) 88 {4
The curved surface area of cylinder with radius 2 cm and height 7 cm will be :
(A) 44 cm? (B) 88 cm? (C) 154 cm? (D) 88 cm
36. 7 AH Bl 9t g9 @ &% B 1
(A) 154 9 (B) 44 THP (C) 88 W (D) 22 >
The area of a circle with radius 7 cm will be :
(A) 154 cm? (B) 44 cm? (C) 88 cm? (D) 22 cm?
5503/(Set : D)/ I P.T.O.
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37. ffafad ofewst & Ares 8 ? 1
32, 24, 30, 27, 21
(A) 32 (B) 24 (C) 27 (D) 30

What is median of the following data ?

32, 24, 30, 27, 21

(a) 32 B) 24 (C) 27 (D) 30
38. Ffaq iiws! B aga® 1 ¢ 7 1
2,6,45,0,2,1, 2, 3, 3
(A) 2 (B) 3 (C) 4 (D) O

What is mode of the following data ?
2,6,45,0,2,1, 2, 3, 3

(A) 2 B) 3 € 4 (D) O
39. [hdl geT & TRBAT «oovveneennnnn. A LA D T B & T oeerrrrrnnnns q
BIdl a1 IFH TWER B ol 1
(A) -1, 1 B) 1,0 € -1,0 (D) 0,1
The probability of an event is greater than or equal to .............. and less than
orequal to.............. .
A -1,1 B) 1,0 ) -1,0 D) O,1
40. T4l g E & T 591 R & X 1
PE)=........ — P(E)
(A) 1 (B) O € 2 (D) -1
For an event E complete the following statement :
PE)=....c...... — P(E)
(A) 1 (B) O € 2 (D) -1
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